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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1

Ans
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DsOLBe:

1.Z=V-W

2. ZxV=U

Read the following question and decide which of the given statements is/are sufficient to
answer the question.

If U, V and W are negative numbers, and Z is a number, then is Z positive?
Statements:

LZ=V-W
2. ZxV=U

r

) D DATEHE 1 SrgDd DT 08, 90nd 2 g DO .

1 alone is sufficient while 2 alone is not sufficient to answer the question.

< 2.
0F) 9D Darcrdore 1 dodoiw 2 Boctr HOYEroD.

Both 1 and 2 are sufficient to answer the question

< 3.
09) D Darordor 1 o 2 20T 006,

Either 1 or 2 is sufficient to answer the question.

v

D) £ DIFTEDOTE 2 DovgD0 DT B00d, ond 1 H0vgdo DBI .

2 alone is sufficient while 1 alone is not sufficient to answer the question.

Question ID :9864494752
Status : Answered

Chosen Option : 4

Q.2

Question ID : 9864495018
Status : Answered
Chosen Option : 4
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RAT : 18120 :: GOD :

Select the missing term based on the given related pair of terms.

RAT :18120:GOD :
Ans X 1. 7174
X 27144
< 37164
v 7154

Q.3 30 D0EGRoS” K I5mI) B8 S JobEM JocEod.
Question ID : 9864495056

245 [5 +8= (1 + i) - 1] =7 Status : Answered
Chosen Option :3

Select the option that can replace the question mark (?) in the following equation.

2+5+[5+8+(1+3)-1] =
Ans g
X 2.
X 3.
p

LS ISR o T

4 -
Q4 42 63 ubain 105 cﬁ_');)gaj ..z (H.C.F): Question ID : 9864492682

The HCF of 42, 63 and 105 1s: Status : Answered
; Chosen Option :1
Ans of 121
X< 27
< 363
< 4630

5 s o
Q5 2oH Pauriroess” @ Do D JocnEod. Question ID : 9864495100

Status : Answered

| [) 4 1 3 Chosen Option : 2
X awe|2ys|4
| 5

A

B C D
Select the figure that does NOT belong in the following group.

5 4 1 3
TX A3 2|2 554

5
A B C D

Ans X' 1. (¢
VB
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&< 4D

Q.6 X D5y arbie, Y X e a8 Y 89 o JBE EDELA HATHDED” 9D a’b_)x)&mﬂ,
5 Y Sog, X 0108,

If pointing at X, Y says that X is the son of the only son of Y’s mother, then Y’s father is
X's

Question ID : 9864494041
Status : Answered
Chosen Option :1

Ans _ moedh
v &¥
Grandfather
< 2. c
Father
x 3 ST e
Father-in-law
x4 P D
Brother

Q7 HoHTe oay 17 6 (o) 208 SnTregan:

An element with an atomic number of 17 is:
Ans 20& =roiries €575

Question ID :9864493074
Status : Answered
Chosen Option : 3

<1
an alkali metal

x> 28 DBy SO
a transition metal
28 TReTTEO arained)
v

a halogen gas

2958 (DB orodine)

a rare gas

X 4

Q8 @dND DR CIVY) 2S5 ANDEROD 26D JotbEol.

die: wE-DEron (TR0 QT Tia)

Question ID :9864495138
Status : Answered

Chosen Option :3

Select the pair that is analogous to the given pair of words.
Lawyer : Cross-examine
Ans =
o0: €08
x 1
Army : Gun
L TPj000: APjOEEN
< 2. @
Justice : Court

. TB0: Deroes
¥ &)
Police : Interrogate
x4 0bg: dvrsre)
Exam : College

Q9 [
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QG068 e[ NGBS ereife, dxdosn 800 ahog), Hohad 20bodn Question ID : 9864494986
Dieege DBLE06. Status : Answered
The is responsible for precision of voluntary actions and for maintaining the Chosen Option :4
posture and balance of the body.
Ans SDEFROEED (DOE-EI00R)

r 0

Mid-brain

DY arAD (D000 06

s 5 D0 (R )
Spinal cord

s DEDESCD (2Be0)
Cerebrum

LIay 2GS (FabEero
v Al ( 2°)

Cerebellum

Q.10 15 35" rave Gagoe? (v Q0P DVDMo 4 ms™HE EEuenaed. & HPPD v
Question ID : 9864494610

Status : Answered

(888 Does?

An object of mass 15 kg is moving with a uniform velocity of 4ms~*. What is the kinetic
energy possessed by the object? Chosen Option : 2

Ans 1.2 EE-“'{A‘JQ
<1
127

60 aZ“ﬁJa

5 2.
607]

12 a?-“ﬁ)a
5 3
127

120 %0y
W
12071

Q.11 @dgEEH HELD Dedud 2rdod HBCID 30 oSS IO INBIRVHE
Question ID :9864495048

Status : Answered
HELD: Chosen Option : 1

ngmm%“oé.

e :ao:ges" ero0y &0 adge 30 egam 590D
10 rhaner edfren DoberheoTr) o 6 DR X HSdodod.
LEL RS Ve
1. gl &8 edde Tobdart Srgad GO SR0HoEr®m.

2. 20y SDJIT® ST SoarRy SRoEDy

Consider the given statement to be true and decide which of the following assumptions
isfare implicit in the statement.

Statement:

Company X announced that in their company, 10 clerical jobs will be filled, with the
minimum eligibility criteria being bachelor’s degree pass.

Assumptions:

1. Only those who have passed the bachelor’s degree will apply.
2. Masters can also apply.

Ans
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Both assumptions 1 and 2 are implicit.
€903 1 DrGRD DRYoBETROIO.

Only assumption 1 is implicit.
290033 2 APGRD DYOTTRONE.

Only assumption 2 is implicit.

1 S0 2 DNOBTRDB.
< 4

Either assumption 1 or 2 is implicit.

Q.12 a6y 2018 TS Dot £5°g D HES), HYHIAD (CBFC) waggoent M

Question ID :9864492422
DOiLDIDENE ?

Status : Not Answered

‘Who has been appointed as the Chairperson of the Central Board of Film Certification )
(CBFC) as of March 2018? Chosen Option : --

Ans 22000 E.)l:‘.fl':]f]
r

Jaya Bachchan

V> R &
Prasoon Joshi
x ESSTALR Y
3.
Subhaash Ghai

£9:00a0 6
Anupam Kher

<4

Q.13 @ Hetded Desjo @ grdodiod 280NN HELDL Wod @HLE Jnfosned’
Question ID : 9864495096

DO oef) Cor eavobores Dgonodod.
Status : Answered

Chosen Option : 1

p8eden:

ED) sorjooren Eoneen. ) Sodden EoIFTReD
Awhoen:

1. SR)‘l SUTLTFOReD BRUTjOciTeD.

2. @a‘l w&eoﬁuw Q‘O"éﬁ"ﬁ"m.

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:
Some offices are companies. All companies are factories.

Conclusions:
1. Some factories are offices.
2. All offices are factories.

Ans x 1 0oy 1 Sor 2 IE 2,66 eaduhbinob.

Either conclusion 1 or 2 follows.
v SAfioa)) 1 i eoxubloed.
2.

Only conclusion 1 follows.

x swhoinen 1 S0doin 2 ot essuiinnod.
3.

Both conclusions 1 and 2 follow.
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4,

Only conclusion 2 follows.

Q.14 306 D3 3635 D Do JocEod. )
Question ID :9864495066

Status : Answered

@ Chosen Option : 1

A B C D
Select the option that does NOT belong in the following figure series.

ONO401[0
A B (3 D
Ans Xl-D
~< 2B
Ks3C
v A

Q-15 2.8 DTS ammgaxg) 20 oD DD TocD Otw. e AT ammaann cﬁnéb

Question ID : 9864494881
Status : Answered

DO 392 SE0D) DO 00B, D I Jod?

The base of a parallelogram is twice its height. If the area is 392 sq.m, What is its the
height? Chosen Option : 2

Ans  X'1.12m
&< 228m
¥ 314m
& 424m

Status : Answered

The HCF of 162, 54 and 135 is:
Ans X' 1 g
v 27
<33
X1

Chosen Option :1

Q.17 _
Question ID : 9864495149

Status : Answered
Chosen Option : 3
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D0?

D) B

AN 4

A B cC D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

Answer Figures

W | DWW
Ans ?:,’:LAB
X2D
v:B
Xac

18 T e Bradapew HIS® esotron:

Pollen grains are found in:

Question ID :9864494947
Status : Answered
Chosen Option : 1

Ans
- Serian

stigma
x5 DaEFren
ovules
e90CLBEDD)

locule
v HoRHE TR

X 3.

anthers

Q19 358 7DD JrHodiol:
252 = [51- (27— (9- 8 F D} =2

Question ID : 9864492899
Status : Answered

Chosen Option :1

Solve the following:
252 = [51-{27-(9-8 + N)}="
Ans of 114
<27
< 318
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<40

Q.20 A 0Ba» B e Qe 5B 28 DO 35 Fexes® 10 AP, A 2000 HASDHICS,
2265° § 0 g 3%, 200DD DD B 1 dabieio Foth HADDRD, 50 € 0D
200007 P9 Samcio 65 90 Faren DHifod. @gos” doe DD0goTe DI A 8, [nogo

DA o oo ot .:)::)J_B“ww DEES0H?

A and B can complete a task together in 35 days. If A works alone and completes ; of the

task and then leaves the rest for B to complete by herself, it will take a total of 90 days to
complete the task. How many days would it take A, the more efficient among the duo, to
complete the entire work by herself?

Ans X145
v 42
< 348
< 440

Question ID :9864493010
Status : Answered

Chosen Option :3

Q.21 28 RN sbﬁain:)g_ 15 papew 2.8 FHI 12 Dwareed” Donresy). esd FH wd
HTFRaaNE Dodrmd3 28,56 0o .n:s:o.nnff €:5) 6 PEHOLD Jod DICLOW
Srothoenot?

15 pipes, each having the same diameter, can fill a cistern in 12 minutes. How long will it
take for 6 pipes, each with double the original diameter, to fill the same cistern at the same
speed of the flow?

Ans 12 Dawaren
<1

12 minutes

10 Dawaren

10 minutes

0.5 Davaren

0.5 minutes

7.5 Da0aren

7.5 minutes

< 2.

~ 3

v

Question ID : 9864494842
Status : Answered

Chosen Option : 2

Q.22 a8 ©orith DD DED v o 100 DG oty S ool erbadod.
SEDenEID) FOTFL 50D Difo 25 ms™l. &5 DED 08, esrboser 3"3@3&0 Does?

A boat at anchor is rocked by waves whose consecutive crests are 100 m apart. The wave
velocity of the moving crests is 25 ms~*, What is the frequency of rocking of the boat?

A of 1 0.25 35 (Hz)
X 2. 625 35(Hz)
#3100 2§ (Hz)
X 4. 25 °5(Hz)

Question ID : 9864494654
Status : Answered
Chosen Option : 4

Q23 %@a‘sg S0B0IL B23e) DGO eI LIoLTD:

The sum of potential energy and kinetic energy is known as:
Ans Eﬁ.)étﬁag
1. :
Electrical energy

Question ID : 9864494611
Status : Answered

Chosen Option : 4
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OoDS 38
~ 2 -
Chemical energy
5°0ed 35
3.
Light energy
oirogds 35
v

' Mechanical energy

Q.24 DSer Eelat-NTala Ivblalensy] e‘)e;’).:)ag g0 Sog K}Uﬂ?s.:)oca DJOQG_S?“QJ o éno:)i)o(ﬁf.)g

DOES TFES DODO? Question ID : 9864494417
P! &5 o ?

. . - . . Status : Answered
The Union Environment Ministry has launched a pilot project for beach clean-up and

development named: Chosen Option :1

Ans eae oh)
l' - o
Blue Flag

RN, 200
2.{05':"

X
Swatch Bharat
3 0% of
Green Flag
. 3D @ol.oTr

Clean India

~x

x

Q25 12°C 2008hico> O DB GIg) TAE 28 DDEy? Question ID :9864494638

Status : Answered

What is the physical state of water at 12°C?

Ans 9057 DE (D 7des)
1.

Chosen Option : 1

Tonic
. 0
h °

Solid
Vs

Liquid

. 30
X

Gas

Q.26 ey 6 rotorr DB DI 32 4 HA DATPW 2.8 FHesth Sorben Dovz=dy 21 Feveres
Question ID : 9864494859

Status : Answered

SIP0 SODAOW. 2.EDY T 2008 DT T 4 ot 500D DI B33 98 DI T

Dy Bereres® 10 Sonrienrdrrd?
Chosen Option :4

4 workers working 6 hours per day can finish painting a wall in 21 days. If 7 workers
work for 4 hours per day. in how many days will they be able to finish the same work?

Ans X 1 78
< 232
<324
o 18

[ 1
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Q27 %"é@o%& T300E), 0700y BN Qe IOETD:

The rate of change of displacement is called:

Question ID : 9864494609
Status : Answered
Chosen Option : 2

Ans Ak
x

Q.28 Zod Do 030E), 3P Perod® PO VETFAD JoDEN JocEodt.

Question ID : 9864495093
Status : Answered

Chosen Option :2

Select the option that will correctly fit in the blank space of the following figure.

D
4
4,
=

Ans

A

<4

29 2.8 280 & arned, PUZZLING 2 ZZPUGNIL 17 s08ain JIPITAPA O IPITAPAT
@eY
TPO0RDBE0D, RO SWIZZLED S e0d 6 &° groneld edey?

If in a certain code language, PUZZLING is written as ZZPUGNIL and JIPITAPA is
written as IPITAPAJ, then what will SWIZZLED be written as in the same code?

Question ID : 9864495053
Status : Answered

Chosen Option :3

Ans X1 ZIWSDEZL
< 2. ZIWDSELZ
# 3. ZIWSEDLZ
« 4 ZTWSDELZ
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Q.30 5 DMarerds a...SZI 285 .DE‘,)EJQ £67 2.8 (IEOIPC0L&A eooo 6 el OIS
REVOITIS DT W, SR LTI 0 2 (foliw) (IEOIrCan Jod Dawaie
ArRR00H?

A watch gains 5 seconds per minute and was set right at 6 AM. What would be the time
shown on the watch when the correct time is 2 PM?

Ans x migzylo 2.20
1.

220 PM
x mvgzylo 2.30
2.

230 PM
x MTS:T‘Q_O 2.50
3.

250 PM
v a‘).mﬂ?g;]nlo 2.40
4,
2.40 PM

29-08-2018(2).html

Question ID : 9864494882
Status : Answered

Chosen Option : 2

R &S D) R S0 3008 PG DS 0 TPT° 030N So. [~
31 82 O soddem 2017 i0eses’ o TR dofosy sond F
DFBoticio 288087

‘Which of the following companies was bestowed the status of Maharatna company by the
government of India in September 2017?

Ans X1
€302085 @0k TS M S°8 50 (ONGC)
Oil and Natural Gas Corporation (ONGC)
3
2 6S 285" dotdo 5°F GBS dAeE (BPCL)
Bharat Petroleum Corporation Limited (BPCL)
28 errdd) 3D Rod.oir HEE (SAIL)

| Steel Authority of India Limited (SAIL)

< 4
DN0S GBS 056 5T \BAD (NTPC)

X3

National Thermal Power Corporation (NTPC)

Question ID : 9864492358
Status : Answered
Chosen Option : 2

Q.32 DS aitanGnn Hiod egrods DuDFANEONM S8 e 0T, Do D0?
98 1914 2 DodeiyEanes” Bagetod.

What is the name of the canal that connects the Pacific Ocean to the Atlantic Ocean? It
was commissioned in the year 1914.

Ans x D DOWE0 5P
1.
White Sea Canal

x 25 sre s

Kiel Canal
BIEIPead” SPE 6

v
Panama Canal

x4 20108 SRe
Suez Canal

Question ID :9864494494
Status : Answered

Chosen Option :3
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Q33 & Sodared Aok BN BP0 23D oS oo,

Question ID : 9864494919
Status : Answered
Chosen Option : 2

A. wranaw (Cu):

B. exotrdo — Au
C. JraGhan — Me
D. @“é?)a‘)o — Pt
E. gextio — Ag
Select the INCORRECT match’s from the following.

A. Copper — Cu
B. Gold — Au

C. Mercury — Me
D. Platinum — Pt
E. Silver — Ag

Ans . A H0boin B

~
AandB

E oo
2

OnlyE

D, B swdosw C
3.

D, Band C

C ora
4

Only C

Q.34 5 538'Trame bty 10 SSTPame exbapiv 2 &5 Bodued 2.8 (5 35 580 ey o).
Question ID : 9864494971

Status : Answered

DS IFT 28 e300 E'S 2108 Lol DT HOITLIT €2 & OB D I e0d?

Two balls of steel having mass of 5 kg and 10 kg each possess equal kinetic energy.
Which ball is moving faster, if at all? Chosen Option : 4

Ans X 1
10 $e5°raane) 23083 D5, Drto & HOIrEBRD) &

The 10 kg ball is moving faster.

Bocs e 2,3 Difo & HOITEIT) 0.
5 2.

Both the balls are moving at the same speed.

v
5 35" TR 2208 HE) D Defo & DOIFBD) &

The 5 kg ball is moving faster.
< 4

(233 D0 D0 2 STODE EOED.
Kinetic energy does not depend upon the speed of the body.

Q.35 .
Question ID :9864492079

Status : Answered
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B 12 gorgaan ahog), 58800 Trarod DB)edncos, ST e 14 l Chosen Option :1 J

BErODS” HHes0es s SP@AFRADD KDN0) O ecetof.

The was built by the Kakatiya kings of the 12" century which was rebuilt by the
Qutab Shahi dynasty in the 14" century.

Ans . @m
% 1. T
Agra Fort
X 2. arocd Be

Mandu Fort

Vo ﬁ'eﬁ"bac: ey

Golconda Fort
g ey
Ka o
Fort Kochi

Q.36 28 ANALEFET SEDRAD M), To DA Emnnen w8) 56 aresd Faan Sod
Question ID : 9864494885

Status : Answered

Oghox &) &, e S ool S

If each of the two equal angles of an isosceles triangle is twice the third angle, the measure
of the third angle is Chosen Option : 4

Ans X1 45°
X 2.90°
W 3. 36°
X 4. 720

Q.37 Ay WY 5 D0OOID @areD %NS’ s QNG God. & BareD A IDHT

Question ID :9864495114

QRO s Status : Answered

L Chosen Option :3

—

2eTeN) eI5D)

ipwelEtles

A B Cc D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

L—

>

Dio|>les

Ans \,1-5
X2 A
X 5D
X4C

Q.38 .
Question ID : 9864494711
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808 VAT B0 €570 A Dot odt. Status : Answered
Chosen Option : 2

[2]-Te]x]
A B € D
Select the figure that does NOT belong in the following group.

Ans XlA
VD
X< 3B
K4

39 <
Q39 Oy Seol) Ses0 GI0S), HTPD0 VoLFD? Question ID : 9864493395

Which cell organelle is called the Master of the Cell? Status : Answered

Chosen Option :1
Ans . Sogso
1.

v

Nucleus
doElgr) & B0
2.
Endoplasmic reticulum

3 Sod=rodo

Nucleolus

25 srod ol

Mitochondria

< 4

40 4 d >
Q40 N Does” 7Y PO0e” LOICDH JoDE JoEol. Guestion ID : 0864495072

Status : Answered

Chosen Option :1

?

Select the option that will fit in the blank space in the given figure.

Ans )
il A{f‘_i
x: AN\
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<3

A
N

Q41

Ans

&1 808 TS” 2,8 0D .gu.agos@ DIVE; IO D6?

Which of the following is not a double displacement reaction?

% 1 NaOH + HCI © Nacl + H,0

Question ID : 9864494939
Status : Answered

Chosen Option :4

X 2 BaCl, + H,S0,~> BaS0, + 2HCl
% 3 CuSO, + H,S = CuS + H,S0,

« « MgsN, + 6H,0 - 3Mg(OH), + 2NH,

Q.42

Ans

DOF 5°Hoto dI0Y), PABCID 300 TOS” IS VOEHIG 5°?

Which of the following is NOT true for the reaction of Calcium with water?

DADCS B D BHDDAT &0t

Question ID : 9864493551
Status : Answered
Chosen Option : 4

v )
The reaction is less violent

B“Q{:iim DAL DDGNEBOE

5 2
Calcium starts floating

DIEVDCE D @é)bm &0bod
< 3.

Heat evolved is less

H2 ar0dned) et

< 4
H2 gas is evolved

Q43

Ans

DATEFS D DEFG” DD o &) DR JocEol?

Choose the word which is least like the other words in the group?
=" b 1]

Question ID :9864494734
Status : Answered

Chosen Option : 1

<1

Squirrel

x 2 oed

Crow

x s g
Monkey

« N BIPERD
Duck

Q44

Question ID : 9864495095
Status : Answered
Chosen Option : 1
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BOND Do & Gehere I Dofy Arded JedER JownEod.

Select the option that represents the number of triangles in the given figure.

Ans X 1 16
< 214
VERT
< 417

45 - -
Q45 Jrer(es WO R0AFFET° DA & Question ID :9864495152

Status : Answered

AU (B n C:] = Chosen Option :4
In the usual set notation,

AUBNC) =

Ans o 1 (AUB) n (AUC) =
X2 (AUB)U(AUC) =
X3 (AUB) N (ANC) =
X4 (AnB)U(AN C) =

Q.46 ozrsed S0%o 50 Doy TrEjesTey SDA Sod. T .avmgﬁo a3 otSoc.
Question ID :9864494673

A convex lens has a focal length of 50 cm. Calculate its power.

. Status : Answered
Ans  X'1 1D Chosen Option : 4

<23D

34D

vi2D

Q47 & dob a3 DO Desxgd o30E), e SParso?

Question ID : 9864494675

A) 2os® D0d0I DNBETO Status : Answered
Chosen Option :3

B) e5%3feny swdain D
C) &"fen sndoin Quse

Which of the following are bad conductors of electricity?
A) Mica and Quartz

B) Metals and Rubber

C) Metals and Mica
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Ans B andain C aresan
1

'BandC{ml}r

A Soresdn
2.
A only

A 508050 C ardan
3

'AandConly

A 508010 B argso
4

'AandBonly

29-08-2018(2).html

2 sinf—cos@

Q48 , 3¢ 3tanf=2 es0id,

2c0s8=sind

If 3tan6=2, find the value of
Ans X' 1. ()

&2
v 53
5 a4

2cos8—sind

[ A

TB0E), DD Sa‘n?bcé.

2 sinfd—cosf

Question ID : 9864494887
Status : Answered
Chosen Option : 2

Ans 8 S0y
y T
red flame

Hero avoky

blue flame
K}dé&) aoby

< 2.

P )
clean flame
edad) aob)

v =

yellow flame

Q49 90 DRV YO IV GET DAL’ ED0000:

During combustion of unsaturated compounds a

is seen:

Question ID : 9864493592
Status : Answered
Chosen Option : 4

1
1
The reciprocal of the value of
S e I Cabl
2
v 3

X 21
<30
Xa2

Ans

Q%031 _[1-24 {22~ (12— )}]: ooy, dewid conoey D"

Question ID : 9864492484
Status : Answered

Chosen Option :3

DadD?
Who coined the phrase *Survival of the Fittest'?

Ans

Q.51 ‘@88 GEeRL foaTd LBt (“.ogsmf D & DEYY TEOFADD AFEToH0DNE

Question ID :9864494708
Status : Answered

Chosen Option :3
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aed &5 2woids

| Gregor Johann Mendel
« N ?ﬂ“tﬁgjg 233&‘):.5

Herbert Spencer
D00 0
Charles Darwin

& o6 HDod Hover

De Har Gobind Khorana

<3

< a4

Q52 37 111 s0daosw 148 TB0E), &0, 0T N0k,

Question ID :

Status :

Find the LCM of 37, 111 and 148.
Ans X' 1. 222

Chosen Option :

9864494532
Answered
4

v 2 444
< 3206
< 4424

Q.53 @otxd) e 5D DEBHD (IAF) 55 65D Do Boyeg §9 wroBcinEsS ISRO ard

= Question ID :
DAL B0 DD 0B IDA?
. . - . Status :
Identify the former ISRO chairman and space scientist who became the first Indian to be

inducted in the International Astron Federation (TAF) Hall of Fame. Chosen Option :

9864494444
Answered
4

Ans DOTLO0 S DO
8
Parmeshwar Lal Saran
v Ee TROIR06) TFe)
2.
Udupi Ramachandra Rao

x 3 .m0, 5663 £)a776
AL S, Kiran Kumar
OLIEVED LD
o o, IR

Subhramniyam Swamy

Q54 375 Cﬁngzj 56% :

Question ID :

56% of 375 is: Status :
Ans X' 1.7224 Chosen Option :

9864494896
Answered
3

< 2.196
v 3210
< 4168

Q.55
Question ID :

Status :

Chosen Option :

9864493717
Answered
2
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ABGEIAD DEOHD DRELRIT HOMoDd DB DY HELDO Wod D BVAKDLB
£ ytorT mogbnoaea(s‘a Dgonosodt.
DsLDew:
B Dbyen Tiyen. ey ween The.
snhoipen:
L 82y ey egen.
2. By ey e

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
Some chairs are desks. All benches are desks.

Conclusions:
1. Some desks are benches.
2. Some desks are chairs.

Ans 1 S 2 e9:08Jr00.
r 0
Either 1 or 2 follows
, S0A0) 1 APt e9:0005008.

' Only conclusion | follows

x

A0hoy) 2 AraD 9000000,

~ Only conclusion 2 follows

53

” 1 206030 2 easndrow.
" Both 1 and 2 follow

Q56 350¢5° 58%:

Question ID : 9864494536

58% of 350 is: Status : Answered
Ans « 1.203 Chosen Option :1
< 2.196
< 3217
< 4210

57 T SOy Yoo
Q57 S0t SES) RIS goc. Question ID :9864495146

Status : Not Answered

- < O Chosen Option i~

A B c D
Select the figure that does NOT belong in the following group.

S
A B (8 D
Ans «1_[)
X2 A
XsC
X 4B

f A}
file:///home/chronos/u-2d84c571f32228f59432348ac6352b94e€998f31b/Downloads/29-08-2018(2).html 19/26


career.aglasem.com/railway/
https://aglasem.com/
https://career.aglasem.com/

9/14/2018 29-08-2018(2).html
Q.58 ICCB axvg), D Dud6 wargomn Sure D@ HyEodd avkaGs redab 836

Sorsedoty o ?

‘Who is the first Indian cricketer to have grabbed BCCI’s Polly Umrigar Award three
times?

Question ID : 9864494480
Status : Not Answered

Chosen Option : --

Ans . T30 (5026

~
Gautam Gambhir
L Do. D 85
M. S. Dhoni
. Doees & ‘E(;“
Virat Kohli
DD Bocirubé

Sachin Tendulkar

x

v

4

Q.59 28252 e SFcay o Pan 11: 25 2D &° DHRODNRNED TEDD artio g,
Dezay) Joes?
When a wire 25.2 m long is divided in the ratio 11 : 25 the length of the longer piece is:

Question ID : 9864492865
Status : Not Answered
Chosen Option : --

Ans 15.2 Hoeocd
X< L °
152 m

7.7 06D

7.7m
17.5 dotadd

17.5m
18.4 dotadd

18.4m

52

v

< 4

Q.60 . x © DS DoDSVTDS 9% .3“20"?65 DedE 5 RODBTOL TR DD oG, @.F
© DEBEHE DoDSYTEDS 7.5% POrR] SEE 4 DodenTros” TFod HES DAFIDW. X 1Y
A SR P,

T x invested at 9% simple interest per annum for 5 years yields the same interest as that on

Question ID : 9864494897
Status : Not Answered
Chosen Option : --

T y invested at 7.5% simple interest per annum for 4 years. Find x : y.

Ans of1.2:3
< 2.45:30
X 316:15

/< 48:9

Q61 &, ;boa;gueﬁ‘ DA 6 DY 2PAoDEICIEDA?

Which of these numbers is divisible by 6?
Ans X 156792

Question ID :9864494554
Status : Not Answered
Chosen Option : --

W 2. 45678
< 334672
< 4. 23456

Q 62 S rod Du0yS & 843 ord Aegard ey Storr roodio dusy, ed DY Su OB irococras?
On which date Swachh Bharat Mission was started by P Nareadra Mods 1o fulfill Indsa’s bigges! dream of beang a clean natioo™

Question ID :9864494395
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2. e9Fed 2015
x< L =
2nd OCT 2015

145 Ha0eab 2014

< 2.
14th Nov 2014

25 eofead 2014
v &
2nd OCT 2014

145 &Haooead 2015

< 4
14th NOV 2015

Status : Not Answered

Chosen Option : --

Q63

Ans

& 200 D) O SN 0BT WY PELDOS® DB PO BB/ WO EraD
:Ogonox:md.
D0 G0 0T, Gorh DDe?
sgo®:
1. Jeo &0 erd 90 Ve, IR JO B0 €90 DEVIFE SOOI B0 D
DR0EY D DeDD.
2. @Beniy D Den) 92 DeVJE, Heusy D DTy ©D DenFgrm, 8Dy D Fooan
292 eV SO0ID FEuan 2 IEEYD 9D encd

Read the following question and decide which of the given statements is/are sufficient to
answer the question.

‘What is the colour of human bloed?

Statements:

1. Blue is called pink, red is called orange and orange is called yellow.
2. White is called black, black is called green, green is called brown and brown is
called red.

<1

09) H DIAFTIDEEIS 1 2Bk 2 Boccr DO Erow.

Both 1 and 2 together are sufficient to answer the given question.

5 2.

D) VD PATTFADYEPDS 2 argo 0T @0d 0B 1 argo HOT .

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

<3
09) 9 DATETADDUETIE 1 GE 2 IF 2,56 28T B00d.

Either 1 or 2 is sufficient to answer the given question.

v

03) O DAFTIDDEPDS 1 argo DO @008 00D 2 Argo DO .

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

Question ID :9864495061
Status : Not Answered

Chosen Option : --

Q64

Ans

TotEad DEA 20D DEANE ROEIOGDVDY ENTT DOTED DEDDE 2030H00
Do JocnEod.

DB PS5 2 TErHOEs Seso:

Select the option that is related to the third term in the same way as the second term is
related to the first term.

Electricity : Galvanometer :: Atmospheric Pressure :
& e8 Qb (erGanned )

Barometer

Question ID : 9864494806
Status : Not Answered

Chosen Option : --
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368 Db (Bearngo)

| Hydrometer

; %;hffémﬂbamﬁ{dgﬁm Srnso)

p )

Sphygmomanometer

x4 Qa0 P50

Osmometer

Q.65 ¢ oy ;39_)35 28 ‘(oo;‘.‘»@gd;ﬁneﬁ" 25 2008 DY LD DDA LAFHE0E. I
Question ID :9864494868

Do Do) Ded Jowd ?
Status : Not Answered

Chosen Option :--

By DebEY (dSranad’) Dy Roayg
1.5 4
2 5
2.4 8
3 5
3.2 2
3.4 1

The following table shows the gain in weight by 25 children in a year. What is the mean
value of gain in weight?

Gain in weight (in kg) No. of children

1.5 4

2 5
24 8

3 5

3.2 2

3.4 1

Ans of 1.2.4

<232
<321
<4109

Q.66 ot PEHEL A 200I0 B 28 HFHD DO 32 200050 48 fotuds” Dopivw). H6 oo

Question ID :9864494581

B D6 BoHBLYED Pip € Doodo FH 64 cowers” a9 Sanie. rdezoe, &
Status : Not Answered

2T 2 206D 205D A S0B0in PRy C BoDedaron. §2Y ot Bars, i A .
) AR A =0 2L £ Chosen Option : --

FDDOVLEDE DA PP B BODLIEH6. Doogo D6 FG Docerds 112 foten

éms;ales. D B D) floten BODWEHD?

Two pipes A and B can fill an empty cistern in 32 and 48 hours, respectively. Pipe C can
drain the entire cistern in 64 hours when no other pipe is in operation. Initially, when the
cistern was empty Pipe A and Pipe C were turned on. After a few hours, Pipe A was
turned off and Pipe B was turned on instantly. In all it took 112 hours to fill the cistern.
For how many hours was Pipe B turned on?

Ans <184
K277
< 370
v T2

f A}
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Q.67 D&3e5° HIEY 200l e06E DO DM Bt avo DO?
Which of the following methods will separate water from muddy water?

Question ID :9864494978
Status : Not Answered

Chosen Option : --

Ans B350 (3T809).
" nysta]lisation
, EVNaI (CRTOW).
Distillation
. DT (1076 (F205D060 HDHS)
Separating funnel

v HEETE (DTD)
Filtration

Q.68 P&y 2omd 1 &0 G5 3365 — 0 0D @5 Te9DD DPOED SUDD eﬂoejg“@{ﬁ) 4305 esct D
2285 33 ese9) 657
2065 3306 ahos) ey

The book ‘Six Machine: I Don’t Like Cricket — I Love It’ is the autobiography of which
Jamaican cricketer who plays international cricket for the West Indies?

Question ID :9864494449
Status : Not Answered

Chosen Option : --

Ans x 1 20265 0D
Sunil Narine
v 300385
2.
Chris Gayle

eF0LET RS

Andre Russell

=00 2035 epa
Darren Michael Bravo

< 3.

<4

Q.69 Sotrer D 798 malﬁ“cm) B0 2RosdT0e D D t:v“;e_)loej“s DOEToceDOB0A?

The annual buffalo race called Kambala is a festival celebrated in which Indian state?

Ans X . a‘,&{ﬂn

Question ID :9864492403
Status : Not Answered

Chosen Option :--

Odisha
sorens
v ®

Karnataka

[=le1"]
Kerala
SI0RIPE

~< 4.
Punjab

X 3.

Q.70 28 Rawriros™d 5 wddd) Domge W 15 m @0doin Douwrired” (v 2o
Dopge dlog), [t 17 TF @aget.od. @30y Domdjen oD DHfony, dNdS

Romfer e 18.25. & Hurired’ &) Ddo Doajrn D) ?

The mean of the 5 smallest numbers from a group is 15 while the mean of all the numbers

Question ID :9864492918
Status : Not Answered

Chosen Option :--

of the group taken together is 17. If the mean of the numbers leaving the smallest five out
is 18.25, how many numbers were there in the group in all?

Ans <112
213
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/<314
<48

Ans

Q.71 VWY9PONISFSLUDTG61AJ 850 i esercorr, 306 Dees* @?.)D:.’J"on:; Rlags)}

DocEod.

VN, PF, 5U,

Question ID : 9864495121
Status : Not Answered

Chosen Option : --

On the basis of the sequence VW Y9PONISFSLUDTG61AI, select the missing term from
the following series.

VN,PF,5U,
< 1 U6
<2 LG
K3 LT
v UG

Ans

Q.72 & 306 o6 LICIPETrR .Dd)g S0TPerDS ETETOR 5PA0 D67

Which of the following is not an example of a biomass energy source?
x e5a)) adcs
1.

Question ID : 9864494956
Status : Not Answered
Chosen Option :--

Cow dung

eara) 79
v &) -

Atomic energy

AL

p ) b
Wood

BT
Ethanol

~< 4.

Ans

Q.73 @dy® B8 g, 7P HBFS” VO POFoD DAY JocEc.

Question ID : 9864495158
Status : Not Answered
Chosen Option : --

?

Select the option that will correctly fit in the blank space of the given figure.
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<4

Q.74 < 300 T’ D HEWIDED 2y Goe &)y?

DHeeden:

A) 28 DOODHE e ol HAS EBTRPNCD, SR I DD Sodr e Do

&'{})&)o& s00050 eBthard Db,

B) ese5°fen g, GaroidE DIDCHD &9 DY I, anes SobHd
mé&@bm DEDEPO0).

Which of the following statements is/are true or false?

Statements:

A) On moving from left to right in a period, the chemical reactivity of elements first
decreases and then increases.

B) The chemical reactivity of non-metals increases on going down in a group of the
periodic table.

x 8eden A Hodoin B GK}_}DED
1.

Statements A and B are false
D5 A 08030 B Bottr 2T
&2
Statements A and B are true
v 250 A 2an, 5T B Sy
3.
Statement A is true, but B is false
« 8L B &‘Q}D, s A éj‘z.’z);)
4.
Statement B is true, but A is false

Question ID :9864494663
Status : Not Answered

Chosen Option : --

Ans

Q75 306 DATEHEIS DD &HADY JowEol.

V W |MAWV
A B C D
Select the figure that does NOT belong in the following group.

V (W [MAIWV
A B C D
< 1B
vzcC
<3 A

Question ID : 9864494134
Status : Not Answered

Chosen Option : --
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